_ {This questionlpapcr contains 10 printed pages.] -
8107 Your Roll No. woooeo....
B.ELEd. -AS
" Paper — C-1.2 |
CORE MATHEMATICS |
Time : 2 Hours Maximum Marks : 33

(Write your Roll No. on the top immediately '
on receipt ‘of this question paper.)

Note :— Answers may be written either in English or in

Hindi; but the same medium should be used -
throughout the paper.
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The paper is divided into four Sections :

A, B, C and D. Section A is compulsory. Atterﬁpt

any two questions from each Sections B, C and D.
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SECTION A (¥/ ‘w’)

I. Complete the pattern 1,5, 12,22,

3 m— —— —

et 1,5,12,22, ., __,__ W 90 FHhow
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2.

Draw a figure which has a rotational symmetry of
order 5.

Y s @R R oo a5 @ wm X 9

Convert 723 to it’s equivalent in base 5.

723 W, AR 5 X R W N wwh |

Modify a hexagonal tile to create a tile with no straight
edges which tessellates and show it’s tessellation.

Ww@%mmﬁwaﬁamwmmw
w1 e @ T B sk w wgeeia B ik SuE
ageREE W weffiT AR

Draw the net of a hexagonal prism.

wmﬂwﬁm@ﬁm

If the ratio of the sides of two squares is 2 : 5, what
is the ratio of their areas ?

afe & i A sl w1 oS 205 B A I AAwmed
F AU . ? 7

If all the dimensions of a rectangular box are doubled,
what happens to its surface area ?

Il FEAER TR Al B B e R e @
3R FAE ATHE G T UG BN 7
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8.

10.

L

Find two patterns in-a three column number chart

starting with 0.

' 0 ¥ T& T, AT Hiow T e X A YA F A HFH )

Complete the pattern

]2 132: 33 S} ‘8:‘—: —_— — -

¥eF 1,1,2,3,5,8, —, s, — T U w1

Draw a figure which has 2 lines of refiectional
symmetry.

Yo fm Wit frdl Q el e wwhE A § 7

Explain the difference between ordinal and cardinal
number by giving an example. (1tx1=11)

T JET oK AW S FfdA dEm H R A
T | '

SECTION B (sm1 ‘@’)

" The base twelve numeration system has the following

twelve symbols :

0, 1: 25 3: 4: 5: 67 ?: 8: 9; T-;E

(a) What numbers are represented by T7 and T1E?

P.T.O.
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(b) Write 99 in this numeration system. How many
two-digit numbers are there in this system ?
' (2+2=4)
IR e T T N iR e v #
0,1,2,3,4,5,6,7,8,9, T, E
(®) T7 @R TIE = &7 d&nst &1 Fwaor & 2 7

(@) = v v ¥ 99 PR 1 @y ¥ R
R okt w7

2. Create a word problem for each of the situations given
below.

e @ o
TN o *
@ 1 [1 [ -

(b) Complimentary Subtraction. : (2+2=4)

A & 7 oRfwfE ¥ ¥ =& F Rw = wnow
g R '
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3. You have been given five buttons, five match sticks,
five erasers and five bottle caps in this order.

(i) Assign values to each type. What is the Iarg¢st-
number that you can represent using the above
tokens ?

(i) What will be the base of this system ?
(ii1) When will the next type be required ?

(iv) How will you represent the numbers 23 and
142 in this system ? (1x4=4)
FF! g wed, diw Wik 9 Wfedl, 9w @ ik 9 Aaa
® TFRT T oW W v g §
(i) 7= e = W9 TR | S aEd /S dem @
@ e T T T T W oA W Pela
T AFES B 7
(i) <8 Womel = 3MUR FAM BRAT 7
(iii) et e <Y w9 swgEar B 7

(iv) =8 vl ¥ g 28 IR 142 T =N DY Pl
T ?

SECTION C (sm1 ‘W)

1. Triangular numbers are numbers that can be
represented by a triangular array of dots. The first
three numbers are as shown _

P.T.O.
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(a) Write the first 8 triangular numbers.

(B) Write a formula to represent the n' triangular
‘number and explain. (2+2=4)

Prarim e 3 derd 8f € G Rgdl @ el =
mﬁaﬁaﬁmmm%nmiﬂ?mﬁaﬁ?ﬁm

R

(m)mmﬁah@qmﬁraﬁﬁml

(@) nﬁﬁﬂ%ﬁumaﬁﬁ@aaﬂ%%ﬁqwﬁm 3.
=rer SR |
2. (a) Enlarge the given figure by a scale factor of 2
units. Draw the enlarged figure and compare it’s
" area and perimeter with that of the gwen figure.
4cm

lem

1.5cm

Z2cm
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(b) The median and mode of the given data are
and '

14,13, 11, 13, 16, 15, 15, 12, 13, 12, 16, 14, 14, 15, 13
(2+2=4)

(®) Re wv R = 2 gfe o @ U g e Hil |
W g R @ @R ok @@ faed JR IR St
Ry e fm § g Hikw:

4 cm
Icm
1.5cm7
2cm
(w) Ry sifwd & e e K

g
14,13, 11,13, 16, 15, 15,12, 13, 12, 16, 14, 14, 15, 13

3. The graph below shows the coordinates of an
L-shape.

(a) Reflect this shape about the x-axis and write

the coordinates of the vertices of the reflected
figures. |

(b) How will the coordinates change if the initial figure
is reflected on the y-axis. {4

P.T.O.
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SECTION D (smr ‘=’)
. The following ﬁgure is the base design for stacks of

unit cubes. (The numbers indicate the number of unit’
cubes which are stacked)

(a) Draw the front, back and side views of the shape
formed.

(b) Find the volume and surface ‘area of the entire
stack of cubes. (2+2=4)

Feiefen Ra gfe =@ & R @ R s® Rama 2
e, ffy ¥ wft v g wE @ W 2

4121113

(w) *% gf v =1 3w, o 3 ued gem @i
(@) = N 7l AR @ smew sk wad ATww W
e
2.  Each of the given storage tanks starts empty and is
then filled with water at a constant rate. Draw a

graph showing the height of the water varying with
time for all the 3 tanks. . (4}

P.T.O.
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Tank A Tank B o Tank C
® 7 e TR Y ¥ vdw @ @ e T @ ek

A A 5 Y W R w2 1 I Rl & R R
w?maﬁ“m@ﬁmﬁamﬁgwwﬁﬁm

oW

3. (a) Draw the net of a cuboid of dimension 3 cm x
5cmx 7em.

(b) How many boxes of dimension 2 cm x 3 ¢m % 5 ¢cm
can be fitted into a box of dimension § cm x 20 cm
x 12 cm. ' (2+2=4)

(F) BChx Scmx 7cm T a@ Uw W@ RS wER
YCHAE H e @i |

(@) @R s A 2 cm x 3 cm x 5 cm T I R
TR e BT W w8 7
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